Section 3.2: Solving a System using Elimination Name: KEY

How do | find the solution to a system of equations using elimination?

1. Check to see if either the x’s or y’s will cancel (be ELIMINATED) when
added together, .

2. i noto #1, multiply each equation by a different number so that either X’s
or y's will cancel (be ELIMINATED) when added (must be same number
with opposite signs).

3. Add 2 equations together to cancel (ELIMINATE) a variable. Solve
remaining equation for that variable.

4. Plug the value ybu got for the variable you solve for in the previous step
- into either of the equations and solve for the second variable.
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6. Write an system to find the missing numbers: '

~ “The sum of five times a number and three times another number is 52. The
difference of nine times the first number and four times the second is 56.
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7. When Bo?buys 8 drinks and 3 bags of popcom at the movies, it costs $32. Jane
goes the same movie and buys 5 drinks and 2 bags of popcorn for $20.50. How
much does each drink and each bag of popcorn cost? t
9 ot pop Drisky / pporm

‘5(‘3\( \—3jc31) —> Ix+3(y)=31L [ ,
8 (O rly = 20.5D ) IxHL=3> C"Z.Sﬁ,ﬂ
Tr=10

..\-«IO}( -—[Sj: "'“40
“lO‘fL '{*'bﬁ - Ha"f

y =

x5




